GND
GND R1
GND GND GND NL
T H1 2 [
C1 SMA\_
J—cz J—c3 J—c4 J—cs B C6 Insulating bushing 100n U1 R2
100n 10u 100n 10u 1FR5 ‘Gps ‘ ‘Al ‘ ‘Hz ‘ YR 5l rp——— 1 " NL ‘oI
VDD SSR_M8T MMCX/TNC bulkhead Insulating bushing INFREQP 7 v A 2 ° . BNC
VDD VDD K i Synergy Systems, LLC  Digi-Key Digi-Key R6 R7
Ivee 168T4423G  2072-CAB453RF-0200-A-1-S-ND  A24479-ND IN FREQN 6 | g 3 499 261
1 H3 H4 H5 N
(32} (=) (2]
P1 c7 c8 \ | | \ GND|_5‘ a6 Vi | 1:1
9 = o 100n 100n Standoff, 8mm, M3, hex M3 screw, 4mm M3 screw, 4mm
O E =z H6 H7 H8 SN65LVDS100D C10 R10 100
> 3 < GND  GND \ | ] | ] \ 10n 22K
> Standoff, 8mm, M3, hex M3 screw, 4mm M3 screw, 4mm
e GPS RXD 2| vy 1ppg |4 _GPS _1PPS e HY H10 H11 GND GND
3 GPS TXD 1] +3pn I ] I ] I ] GND
8 Standoff, 8mm, M3, hex M3 screw, 4mm M3 screw, 4mm
RTCM <=
» NG 7 H12 H13 H14
“J e | | | |
= NC
O o Standoff, 8mm, M3, hex M3 screw, 4mm M3 screw, 4mm
§ % Digi-Key McMaster-Carr VDD cC11
24392K-ND 92005A112 D
| | Oncore M12
- U 00 rxa
o e RS422 DRV 3 e
SN65HVD32D
GND
GND
H15 H16 H17
u2B
‘ | | ‘ | RS422 RCV_ 2 B RXA 5
BNC lock washer BNC nut Standoff, 15/16", #4-40, hex TP5 7 . RXB GNDI—
‘ng ‘ ‘ng ‘ ‘HZO ‘ SN65HVD32D a1l
GND BNC lock washer BNC nut Standoff, 15/16", #4-40, hex R12 R13 NL
H21 H22 H23 499 499
P3 \ | | \ |
/.‘ 1 __INFREQP == C12 BNC lock washer BNC nut Standoff, 15/16", #4-40, hex = AGND
® 14 _INFREQN == U3 SNB5LVDS391 100n Digi-Key Digi-Key Digi-Key AGND =8
p -| | - |
® is g)g ﬁsgz == Jg 0P EN12 %GSPPS VG A1129-ND A1128-ND 1772-1408-ND
® OIN  IN1 e—2o2—= 2 )
3 __GPS TXD P 14 3 _GPS _TXD H24  #4screw, 1/4" R14
o 16 GPS XD N 3 oo ves F4uo NL © U4
@ 4 RS422 RCV P 2] 3% onND L2 D H25  #4screw, 1/4" - 33.554432MHz
® 17__RS422 RCV N 110 03N INg 8 _RS422 ROV J4 ] XOCTRL faee) XOTUNE, L Tune @
5 1PPS P 10 7_IN_1PPS 1PPS IN H26  #4screw, 1/4" ! I
.. 18 1PPS N 9] Oan Enae B 1uoD BNC C— K —Lc13 ==c14 cis S
@] b GPSRXDP 4= H27  #4screw, 1/4" 10u 10u 10n
19 GPS RXD N U1 16 ] NPO
¢ FumORVP N2 i o Csers mxo 1VPP oD H28  #4 screw, 1/4" = o
® 20 __RS422 DRV _N N3 |N2p ouT2 14 RS422 DRV AGND
8 OUT 1PPS P \_4 3 H29  #4screw, 1/4"
® IN2N VCC {vDD
® 21__OUT _1PPS N N_5.| N3 onD 22 |GND
9 SYNCIN_P __6 1 0ouUT 1PPS 1 1PPS OUT McMaster-Carr
O e == IN3N OUT3
22__SYNCIN N 7 0, BNC 90272A106
® = 4=t IN4P OUT4 = FL1 3
10__SYNCOUT P_~C= 8 9 J5 | 1 2 ] P12V H30  #4screw, 1/4
O SUNCOUT N == <o INANEN34 VDD +12V} NY\INY\
2 | @11 ios U6 SNG5LVDT390 e Las Lew L 4 X H3L _ # 7y
~ T R18 1u 47u ) SCrew,
24__LEDIN C18 5 6 | 3~ 5 ——C19 C20 DS1
27 | @ 12__XOCTRL 100n o] GNDJ 6 47u 1u
e DS o 100 BNX016-01 3 R19
¢ 3 GND 74LvC04 806
& 1——{GND —= UsD L
DB25M AGND 9 8 AGND
100 =
74LVC04 AGND
USE
R21
VDD 1 10
100
c21 74LVC04
100n oo -
13 12 ]
GND 100 Title L. .
7aLveo PCle Timing: GPS/OCXO Expansion Module
Size Number Revision
B D2000301
Date: 3/16/2023 [ Sheet Iof 2
File: C:\Users\..\Master1.SchDoc | Drawn By: Daniel Sigg

1 2 3 4 5 ‘ 6




P4A
Terminal header, female socket
P4
+5V 4
GND 3
GND 2
+12V 1
100n
FL2
GND 1 2
10u 4
GND £ NDF— 3~ 51 1enD
u7 lu I 6!
a z BNX016-01
| e %¥—=— NC VDD VDD
shi 100n 2.0 A 7 SYNCIN_P
N alg ~ 31 B 7 6 SYNCINN
AFBR-5710 R23 VDD
[ lads ) 4 L5
i1 89 88 HE 5 g L8 Los 55 VED END S vee
\\: iy >> g 2 RDY 22 RX_P == Ros R24 SN65LVDS100D ?
717 X X LL 12 RX_N 22K C29 DS2
o RD- 299 10n €30 +
oo . I C31
T 18 TX P |—|GND R26 —C32 c33
A i 2222282 4og ™ 19 TX N GND W 100 2200 "Tgy |
000 [aYaYa) -
><|><|><|><|><|><|><| ooo Dis 3 R27 R28 8 o 1
gy g alaya 533 GND—__19 ¢{__+—{GND VDD 1 VDD NC —— N N
So2 S 7 2 SYNCOUT P
6 3 SYNCOUT N
] el L0
1B CHD oo GND—2 GND VBB B2 P6
SN65LVDT101D U9 LT1963A-3.3 !
SFP Cage 2 | v 4 |
Vin_ Vout VDD 3.3V
s0v voc—4 2] S Sens 21
B +C34 c35
T 220u 47u
DS3  R29 ™
FAULT R8O ¥ _N_%'_WDD
— 1
— —|VCCAUX o GND GND
: R36
RDY R31 NL 8
10u D
47K
e o LEDIN 7
LOS GND FOV30IN \ [[ /G
:4 R S R33 U10  LT1763 VCCAUX 25V
o 47K 8 vin  vout —
SDA 5 2
—|4 7K|——|VDD 1 VvCC 1 En Sense C36 ca7
' GND GND Bvp | |4 T aon 47y
scL I:IR35 GND BYP
17K wlole GND
GND
TP8
Title L. .
PCle Timing: GPS/OCXO Expansion Module
Size Number Revision
B D2000301
Date: 3/16/2023 [ Sheet2of 2
File: C:\Users\..\Master2.SchDoc | Drawn By: Daniel Sigg

1 2 3 4 5 ‘ 6




	Schematic Prints("All Documents",Logical)
	Master1.SchDoc
	Components
	A1
	C1
	C1-1
	C1-2

	C2
	C2-1
	C2-2

	C3
	C3-1
	C3-2

	C4
	C4-1
	C4-2

	C5
	C5-1
	C5-2

	C6
	C6-1
	C6-2

	C7
	C7-1
	C7-2

	C8
	C8-1
	C8-2

	C9
	C9-1
	C9-2

	C10
	C10-1
	C10-2

	C11
	C11-1
	C11-2

	C12
	C12-1
	C12-2

	C13
	C13-1
	C13-2

	C14
	C14-1
	C14-2

	C15
	C15-1
	C15-2

	C16
	C16-1
	C16-2

	C17
	C17-1
	C17-2

	C18
	C18-1
	C18-2

	C19
	C19-1
	C19-2

	C20
	C20-1
	C20-2

	C21
	C21-1
	C21-2

	D1
	D1-1
	D1-2

	DS1
	DS1-1
	DS1-2

	FL1
	FL1-1
	FL1-2
	FL1-3
	FL1-4
	FL1-5
	FL1-6

	GPS
	H1
	H2
	H3
	H4
	H5
	H6
	H7
	H8
	H9
	H10
	H11
	H12
	H13
	H14
	H15
	H16
	H17
	H18
	H19
	H20
	H21
	H22
	H23
	H24
	H25
	H26
	H27
	H28
	H29
	H30
	H31
	J2
	J2-1
	J2-2

	J3
	J3-1
	J3-2

	J4
	J4-1
	J4-2

	J5
	J5-1
	J5-2

	LOGO1
	P1
	P1-1
	P1-2
	P1-3
	P1-4
	P1-5
	P1-6
	P1-7
	P1-8
	P1-9
	P1-10
	P1-11

	P2
	P2-1
	P2-2
	P2-3
	P2-4
	P2-5
	P2-6
	P2-7
	P2-8
	P2-9
	P2-10
	P2-11

	P3
	P3-1
	P3-2
	P3-3
	P3-4
	P3-5
	P3-6
	P3-7
	P3-8
	P3-9
	P3-10
	P3-11
	P3-12
	P3-13
	P3-14
	P3-15
	P3-16
	P3-17
	P3-18
	P3-19
	P3-20
	P3-21
	P3-22
	P3-23
	P3-24
	P3-25
	P3-26
	P3-27

	R1
	R1-1
	R1-2

	R2
	R2-1
	R2-2

	R3
	R3-1
	R3-2

	R4
	R4-1
	R4-2

	R5
	R5-1
	R5-2

	R6
	R6-1
	R6-2

	R7
	R7-1
	R7-2

	R8
	R8-1
	R8-2

	R9
	R9-1
	R9-2

	R10
	R10-1
	R10-2

	R11
	R11-1
	R11-2

	R12
	R12-1
	R12-2

	R13
	R13-1
	R13-2

	R14
	R14-1
	R14-2

	R15
	R15-1
	R15-2

	R16
	R16-1
	R16-2

	R17
	R17-1
	R17-2

	R18
	R18-1
	R18-2

	R19
	R19-1
	R19-2

	R20
	R20-1
	R20-2

	R21
	R21-1
	R21-2

	R22
	R22-1
	R22-2

	T1
	T1-1
	T1-2
	T1-3
	T1-4
	T1-6

	TP1
	TP1-1

	TP2
	TP2-1

	TP3
	TP3-1

	TP4
	TP4-1

	TP5
	TP5-1

	U1
	U1-1
	U1-2
	U1-3
	U1-4
	U1-5
	U1-6
	U1-7
	U1-8

	U2A
	U2-1
	U2-3
	U2-4
	U2-5
	U2-6

	U2B
	U2-2
	U2-7
	U2-8

	U3
	U3-1
	U3-2
	U3-3
	U3-4
	U3-5
	U3-6
	U3-7
	U3-8
	U3-9
	U3-10
	U3-11
	U3-12
	U3-13
	U3-14
	U3-15
	U3-16

	U4
	U4-1
	U4-2
	U4-3

	U5A
	U5-1
	U5-2

	U5B
	U5-3
	U5-4

	U5C
	U5-5
	U5-6

	U5D
	U5-8
	U5-9

	U5E
	U5-10
	U5-11

	U5F
	U5-12
	U5-13

	U6
	U6-1
	U6-2
	U6-3
	U6-4
	U6-5
	U6-6
	U6-7
	U6-8
	U6-9
	U6-10
	U6-11
	U6-12
	U6-13
	U6-14
	U6-15
	U6-16


	Nets
	+12V
	Pins
	C16-2
	C17-2
	FL1-1


	AGND
	Pins
	C13-1
	C14-1
	C15-1
	C19-1
	C20-1
	FL1-4
	FL1-5
	FL1-6
	P3-25
	R11-1
	R19-1
	U4-3


	GND
	Pins
	C1-2
	C2-2
	C3-2
	C4-2
	C5-2
	C6-2
	C7-1
	C8-2
	C9-1
	C10-1
	C11-1
	C12-2
	C16-1
	C17-1
	C18-1
	C21-1
	FL1-3
	J2-2
	J4-2
	J5-2
	P1-5
	P1-11
	P2-3
	P2-5
	P2-8
	P3-13
	R1-2
	R9-2
	R10-2
	U1-5
	U2-4
	U3-5
	U5-7
	U6-12


	GPS_1PPS
	Pins
	P1-4
	TP2-1
	U3-2

	NetLabels
	GPS_1PPS
	GPS_1PPS


	GPS_1PPS_N
	Pins
	P3-15
	U3-15

	NetLabels
	GPS_1PPS_N


	GPS_1PPS_P
	Pins
	P3-2
	U3-16

	NetLabels
	GPS_1PPS_P


	GPS_RXD
	Pins
	P1-2
	TP1-1
	U6-15

	NetLabels
	GPS_RXD
	GPS_RXD


	GPS_RXD_N
	Pins
	P3-19
	U6-2

	NetLabels
	GPS_RXD_N


	GPS_RXD_P
	Pins
	P3-6
	U6-1

	NetLabels
	GPS_RXD_P


	GPS_TXD
	Pins
	P1-1
	TP3-1
	U3-3

	NetLabels
	GPS_TXD
	GPS_TXD


	GPS_TXD_N
	Pins
	P3-16
	U3-13

	NetLabels
	GPS_TXD_N


	GPS_TXD_P
	Pins
	P3-3
	U3-14

	NetLabels
	GPS_TXD_P


	IN_1PPS
	Pins
	U3-7
	U5-2

	NetLabels
	IN_1PPS


	IN_1PPS_N
	Pins
	P3-18
	U3-9

	NetLabels
	IN_1PPS_N


	IN_1PPS_P
	Pins
	P3-5
	U3-10

	NetLabels
	IN_1PPS_P


	IN_FREQ_N
	Pins
	P3-14
	U1-6

	NetLabels
	IN_FREQ_N
	IN_FREQ_N


	IN_FREQ_P
	Pins
	P3-1
	U1-7

	NetLabels
	IN_FREQ_P
	IN_FREQ_P


	LEDIN
	Pins
	P3-24

	NetLabels
	LEDIN


	LOS
	Pins
	P3-11

	NetLabels
	LOS


	NetC6_1
	Pins
	C6-1
	P1-6
	R5-1


	NetC9_2
	Pins
	C9-2
	J3-2
	R7-1
	R8-1
	R9-1
	T1-4


	NetC10_2
	Pins
	C10-2
	R10-1
	T1-2
	U1-4


	NetD1_2
	Pins
	D1-2
	R5-2


	NetDS1_1
	Pins
	DS1-1
	R19-2


	NetJ2_1
	Pins
	J2-1
	R1-1
	R2-2
	R3-2


	NetJ3_1
	Pins
	J3-1
	R3-1
	R4-2
	R8-2


	NetJ4_1
	Pins
	J4-1
	R16-2


	NetJ5_1
	Pins
	J5-1
	R17-2
	R18-2
	R20-2
	R21-2
	R22-2


	NetP1_7
	Pins
	P1-7


	NetP1_8
	Pins
	P1-8


	NetP1_10
	Pins
	P1-10


	NetP2_4
	Pins
	P2-4
	R14-2


	NetP2_9
	Pins
	P2-9
	R11-2


	NetP3_26
	Pins
	P3-26


	NetP3_27
	Pins
	P3-27


	NetR2_1
	Pins
	R2-1
	R4-1
	R7-2
	T1-6


	NetR6_1
	Pins
	R6-1
	T1-3
	U1-3


	NetR6_2
	Pins
	R6-2
	T1-1
	U1-2


	NetR12_1
	Pins
	R12-1
	R13-1


	NetR16_1
	Pins
	R16-1
	U5-1


	NetR17_1
	Pins
	R17-1
	U5-4


	NetR18_1
	Pins
	R18-1
	U5-6


	NetR20_1
	Pins
	R20-1
	U5-8


	NetR21_1
	Pins
	R21-1
	U5-10


	NetR22_1
	Pins
	R22-1
	U5-12


	NetU1_1
	Pins
	U1-1


	NetU6_7
	Pins
	U6-7


	NetU6_8
	Pins
	U6-8


	NetU6_10
	Pins
	U6-10


	OUT_1PPS
	Pins
	U5-3
	U5-5
	U5-9
	U5-11
	U5-13
	U6-11

	NetLabels
	OUT_1PPS


	OUT_1PPS_N
	Pins
	P3-21
	U6-6

	NetLabels
	OUT_1PPS_N


	OUT_1PPS_P
	Pins
	P3-8
	U6-5

	NetLabels
	OUT_1PPS_P


	P12V
	Pins
	C19-2
	C20-2
	DS1-2
	FL1-2
	U4-2

	NetLabels
	P12V


	RS422_DRV
	Pins
	TP4-1
	U2-3
	U6-14

	NetLabels
	RS422_DRV
	RS422_DRV


	RS422_DRV_N
	Pins
	P3-20
	U6-4

	NetLabels
	RS422_DRV_N


	RS422_DRV_P
	Pins
	P3-7
	U6-3

	NetLabels
	RS422_DRV_P


	RS422_RCV
	Pins
	TP5-1
	U2-2
	U3-6

	NetLabels
	RS422_RCV
	RS422_RCV


	RS422_RCV_N
	Pins
	P3-17
	U3-11

	NetLabels
	RS422_RCV_N


	RS422_RCV_P
	Pins
	P3-4
	U3-12

	NetLabels
	RS422_RCV_P


	RXA
	Pins
	P2-2
	R13-2
	U2-8

	NetLabels
	RXA


	RXB
	Pins
	P2-7
	R12-2
	U2-7

	NetLabels
	RXB


	SH
	Pins
	P2-10
	P2-11


	SYNCIN_N
	Pins
	P3-22

	NetLabels
	SYNCIN_N


	SYNCIN_P
	Pins
	P3-9

	NetLabels
	SYNCIN_P


	SYNCOUT_N
	Pins
	P3-23

	NetLabels
	SYNCOUT_N


	SYNCOUT_P
	Pins
	P3-10

	NetLabels
	SYNCOUT_P


	TXA
	Pins
	P2-1
	U2-5

	NetLabels
	TXA


	TXB
	Pins
	P2-6
	U2-6

	NetLabels
	TXB


	VCC
	Pins
	C7-2
	C8-1
	P1-9


	VDD
	Pins
	C1-1
	C2-1
	C3-1
	C4-1
	C5-1
	C11-2
	C12-1
	C18-2
	C21-2
	D1-1
	P1-3
	U1-8
	U2-1
	U3-1
	U3-4
	U3-8
	U5-14
	U6-9
	U6-13
	U6-16


	XOCTRL
	Pins
	P3-12
	R15-1

	NetLabels
	XOCTRL
	XOCTRL


	XOTUNE
	Pins
	C13-2
	C14-2
	C15-2
	R14-1
	R15-2
	U4-1

	NetLabels
	XOTUNE




	Master2.SchDoc
	Components
	C22
	C22-1
	C22-2

	C23
	C23-1
	C23-2

	C24
	C24-1
	C24-2

	C25
	C25-1
	C25-2

	C26
	C26-1
	C26-2

	C27
	C27-1
	C27-2

	C28
	C28-1
	C28-2

	C29
	C29-1
	C29-2

	C30
	C30-1
	C30-2

	C31
	C31-1
	C31-2

	C32
	C32-1
	C32-2

	C33
	C33-1
	C33-2

	C34
	C34-1
	C34-2

	C35
	C35-1
	C35-2

	C36
	C36-1
	C36-2

	C37
	C37-1
	C37-2

	C38
	C38-1
	C38-2

	DS2
	DS2-1
	DS2-2

	DS3
	DS3-1
	DS3-2

	FL2
	FL2-1
	FL2-2
	FL2-3
	FL2-4
	FL2-5
	FL2-6

	J1
	J1-1
	J1-2
	J1-3
	J1-4
	J1-5
	J1-6
	J1-7
	J1-8
	J1-9
	J1-10
	J1-11
	J1-12
	J1-13
	J1-14
	J1-15
	J1-16
	J1-17
	J1-18
	J1-19
	J1-20
	J1-21
	J1-22

	J1B
	L1
	L1-1
	L1-2

	L2
	L2-1
	L2-2

	P4
	P4-1
	P4-2
	P4-3
	P4-4

	P4A
	Q1
	Q1-1
	Q1-2
	Q1-3

	R23
	R23-1
	R23-2

	R24
	R24-1
	R24-2

	R25
	R25-1
	R25-2

	R26
	R26-1
	R26-2

	R27
	R27-1
	R27-2

	R28
	R28-1
	R28-2

	R29
	R29-1
	R29-2

	R30
	R30-1
	R30-2

	R31
	R31-1
	R31-2

	R32
	R32-1
	R32-2

	R33
	R33-1
	R33-2

	R34
	R34-1
	R34-2

	R35
	R35-1
	R35-2

	R36
	R36-1
	R36-2

	TP6
	TP6-1

	TP7
	TP7-1

	TP8
	TP8-1

	U7
	U7-1
	U7-2
	U7-3
	U7-4
	U7-5
	U7-6
	U7-7
	U7-8

	U8
	U8-1
	U8-2
	U8-3
	U8-4
	U8-5
	U8-6
	U8-7
	U8-8

	U9
	U9-1
	U9-2
	U9-3
	U9-4
	U9-5

	U10
	U10-1
	U10-2
	U10-3
	U10-4
	U10-5
	U10-6
	U10-7
	U10-8


	Nets
	+5V
	Pins
	C26-2
	FL2-1
	P4-4


	+12V
	Pins
	P4-1


	FAULT
	Pins
	J1-2
	R30-2

	NetLabels
	FAULT
	FAULT


	GND
	Pins
	C22-1
	C23-1
	C24-1
	C25-1
	C26-1
	C27-1
	C28-1
	C29-1
	C30-1
	C31-2
	C32-1
	C33-1
	C34-2
	C35-1
	C37-1
	C38-1
	FL2-3
	FL2-4
	FL2-5
	FL2-6
	J1-1
	J1-3
	J1-9
	J1-10
	J1-11
	J1-14
	J1-17
	J1-20
	P4-2
	P4-3
	Q1-2
	R24-2
	R26-1
	R27-1
	R28-2
	R33-2
	R36-2
	TP8-1
	U7-5
	U8-5
	U9-3
	U10-3
	U10-6
	U10-7


	LEDIN
	Pins
	Q1-1
	R33-1

	NetLabels
	LEDIN


	LOS
	Pins
	J1-8
	R32-2

	NetLabels
	LOS
	LOS


	NetC22_2
	Pins
	C22-2
	C25-2
	J1-15
	L1-1


	NetC28_2
	Pins
	C28-2
	J1-16
	L2-1


	NetC29_2
	Pins
	C29-2
	R23-1
	R24-1
	R25-1
	U7-4


	NetC36_2
	Pins
	C36-2
	U10-4


	NetDS2_1
	Pins
	DS2-1
	R26-2


	NetDS3_1
	Pins
	DS3-1
	Q1-3


	NetDS3_2
	Pins
	DS3-2
	R29-1


	NetJ1_7
	Pins
	J1-7


	NetU7_1
	Pins
	U7-1


	NetU8_1
	Pins
	U8-1


	NetU8_4
	Pins
	U8-4


	RDY
	Pins
	J1-6
	R31-2

	NetLabels
	RDY
	RDY


	RX_N
	Pins
	J1-12
	R25-2
	U7-3

	NetLabels
	RX_N


	RX_P
	Pins
	J1-13
	R23-2
	U7-2

	NetLabels
	RX_P


	SCL
	Pins
	J1-5
	R35-2

	NetLabels
	SCL
	SCL


	SDA
	Pins
	J1-4
	R34-2

	NetLabels
	SDA
	SDA


	SH
	Pins
	C38-2
	J1-21
	J1-22
	R36-1


	SYNCIN_N
	Pins
	U7-6

	NetLabels
	SYNCIN_N


	SYNCIN_P
	Pins
	U7-7

	NetLabels
	SYNCIN_P


	SYNCOUT_N
	Pins
	U8-3

	NetLabels
	SYNCOUT_N


	SYNCOUT_P
	Pins
	U8-2

	NetLabels
	SYNCOUT_P


	TX_N
	Pins
	J1-19
	R27-2
	U8-6

	NetLabels
	TX_N


	TX_P
	Pins
	J1-18
	R28-1
	U8-7

	NetLabels
	TX_P


	VCC
	Pins
	C31-1
	C32-2
	C33-2
	FL2-2
	U9-1
	U9-2
	U10-5
	U10-8


	VCCAUX
	Pins
	C36-1
	C37-2
	R30-1
	R31-1
	R32-1
	TP7-1
	U10-1
	U10-2


	VDD
	Pins
	C23-2
	C24-2
	C27-2
	C30-2
	C34-1
	C35-2
	DS2-2
	L1-2
	L2-2
	R29-2
	R34-1
	R35-1
	TP6-1
	U7-8
	U8-8
	U9-4
	U9-5






